20110 30 70

oot odd

00 0ooo0 |O0 0o
15. 0000 34000 | 23 |0 |00D0DD0O0002zeXO000O
0 0 |ocoooooooooooooood
«000 X00O0O00O0O0O00000000
p000 XOODOODODOOOOO0ODOO0O00O0
000000000002zeX0000
90. 100 243000 | +24 |0 |mO000000 2m+n—1)(m+n—2)/2-m! 000
0 0|mOD0D0DO00O00 @mn4+n—1)(m+n—-2)/(n—1)m!'000
101. 000000 [286000 | -8 |0 |2y =200 (s —s0) + M0 (5 — 503 ...
ooooo 0 O |ay = 200 (5 — 5)2 + B0l (g 50)3 ..
30. 00000 (956000 | -9 |0 | Fi= s e be ey
0 X [ [u" vV (u+ v — ww) 7072 x (1 — ux — vy) Pdudo.
0000RO0/KO0000000u>0,v>0,1-u—0v>00000
FOODOO0<u<l,v<0,u+v—uwr>00000
Barnes 1000000000
R R e R—

fu_’yv’y/(l—u—v)’yﬂl_a”(l—%—%)_ﬂdudv,(\x\—l—|y| < %)
Oo0d0o0mRO/ARO000000u>0v>01—uv—v>00000
F,O0ODO00OD0Ru=cRo=cO0002000000000000

OcOlz|+]yl <e<i0DD000D0Bames 0000000000




0o 0000 0o 0o
436. 000 | 1389000 +1 0 | sech t = 307 ) Bt
[ [ sect:Z;’loo(EQ’)‘ t2n
004 |1689000 -10 00000 k=/(Xi2-4)/30
00000 k=4 47— /820
00 10 |[1714000 [V) D000 |0 [secx =430 t-tni s
O [secx =4 O%D

CPDDDDDDDDD



